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let f-(x)-O flx)=y

0--7×-21
0=71×-3 )
t ← root of the equation✗=3←zeroofthe function
Tx-intercept of the graph .



F-✗ -6--0
(x - 3)(✗+2) =0
✗=3,-2 Roots

.

✗=3 , -2
✗- intercepts

-2 3

Same values.

factors→ roots
= 0

0 = ✗2-✗ - 6

0 = (x-3)(✗+2 )
¥-3
,
-2 Zeros

all at same
values

.



Sety , or -11×1=0factor

✗4-8×-33--0 21×2-41--0
☒+11)(x-31=0

" "

21×+211×-23=0
trt it
x=- ×=→ x=

f-int -- -20 y.in/---ioy-inf=0
0=51×4-3×-4) 0=3×2-11×+10 0=2×(2×+1)
0=51×1-411×-1 ) 0=(3×-571×-2) tr t
th 1×-1%1%2 ×=0
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